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Jane does the high jump at school. She
jumps 5 times. Her heights are 1.73m,
1.78m, 1.74m, 1.68m, 1.79m, 1.08m, 1.81m
Put them in order of height, lowest first.
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Bob collects worms and measures them.
Here are the lengths:

2.02cm, 12.02cm, 2.22cm, 1.2722cm and
2.0772cm. Put them in order of size,
smallest first.
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John is a racing drive. He does 5 laps of a
track. The laps are timed at 1 minute 39.82
seconds, 1 minute 28.99 seconds, 1 minute
39.94 seconds and 1 minute 39.45 seconds.
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Pete saves some money over 3 weeks. He
saves £27.84, £36.54 and £122.65. How
much does he have in total?
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Sue bought 3 handbags from a shop. They
cost £75.32, £231.65 and £1112.98. What
did the bill come to?
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James sees a T shirt he likes. It costs
£23.65. His mum gives him £8.97. How
much does he need to add to the money to
afford it?
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A meal deal has a drink for 89p, a sandwich
for £2.12 and a bar of chocolate for 6p. Find
the total cost in pounds and pence.
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